SOURCEWELL	City of Mesquite Member Account # 31694	Horton	#22607	Ford F550	4x4	Diesel
SOUR	CEWELL RFP #122123 - AMBULANCE AND EMERGENCY M	1EDICAL	SERVICE	VEHICLES	O <sup>e</sup>	
HORTON EMERGENCY VEHICLES						
	OPTIONS // ACCESSORIES				•	OFFE
	OFTIONS // ACCESSORIES				Dealer Worksheer	
			10%			•
	<b>-</b> Hortor		MEMBER			
	STRENGTH & SAFETY IN EVERY DE		DISCOUN		Quantiy	Best Price
PART NO	DESCRIPTION	List	T	Best Price		
. 7	CERTIFICATIONS	2.01		200111100		
7000-0001	KKK-A-1822F CERTIFICATION LABEL	\$0	10%	\$0	1	\$0
	CHASSIS					, -
1000-0852	Horton Supplied Ford F550 4X4 Diesel	\$0	10%	\$0	0	\$0
	CHASSIS OPTIONS					
1000-8900	FORD F-SERIES ADDITIONAL AUX AC COMPRESSOR	\$7,727	10%	\$7,024	1	\$7,024
	WHEELS AND TIRES					
1000-0071	CHASSIS ORDERED WITH ALUMINUM WHEELS, NON MD	\$2,214	10%	\$2,013	1	\$2,013
1000-0252	TIRE PRESSURE MONITOR APEX, F450/550	\$336	10%	\$306	1	\$306
1000-0462	VALVE EXTENSIONS, STEEL WHEELS, F SERIES	\$442	10%	\$402	1	\$402
	SUSPENSION OPTIONS					
1000-0149	LIQUID SPRING SUSPENSION, F 550	\$22,191	10%	\$20,174	1	\$20,174
	STABILIZER BAR OPTIONS					
1000-0152	FRONT STABILIZER BAR: FORD F-SERIES	\$1,384	10%	\$1,258	1	\$1,258
	RUNNING BOARDS, TANK COVERS AND CAB STEPS					
1000-0223	RUNNING BOARDS: EMB.W/STAR PUNCH, F SERIES	\$874	10%	\$795	1	\$795
	MUDFLAPS					
1000-0346	MUD FLAPS, REAR, LARGE W/LOGO	\$231	10%	\$210	1	\$210
	CONSOLES					
1000-0411	CONSOLE, LINE-X, W/MAP STORAGE, F SERIES	\$1,322	10%	\$1,202	1	\$1,202
1000-0179	CUP HOLDERS, 2-TIER	\$116	10%	\$106	1	\$106
	BODY					
2000-0245	DOUBLE STEP CURBSIDE ENTRY, 6" DROP SKIRT	\$1,574	10%	\$1,431	1	\$1,431

2000-0249	ENHANCED INSULATION PACKAGE	\$455	10%	\$414	0	\$0
2000-0013	HEADROOM, 72"	\$0	10%	\$0	0	\$0
	COMPARTMENT OPTIONS					
2900-2900	LINE-X LINED EXTERIOR COMPARTMENT (EA)	\$566	10%	\$515	1	\$515
2900-2901	LINE-X LINED EXTERIOR SHELF (EA)	\$116	10%	\$106	1	\$106
2900-2902	LINE-X LINED EXTERIOR DIVIDER (EA)	\$167	10%	\$151	1	\$151
2900-4072	DIVIDER FOR ELECT. EQUIP COMPT (EA)	\$236	10%	\$214	1	\$214
2900-0103	STAIR CHAIR POCKET	\$335	10%	\$304	1	\$304
2900-0110	RUBBER MATTING IN EXTERIOR COMPARTMENTS	\$140	10%	\$127	1	\$127
2900-0114	GRIP LOCK, FACE OF EXTERIOR SHELVES AND DIVIDERS	\$251	10%	\$228	0	\$0
	BODY HARDWARE AND TRIM					
2000-1101	LICENSE PLATE BRACKET, SURFACE MOUNT	\$220	10%	\$200	1	\$200
2000-0273	POLISHED STAINLESS RUB RAILS	\$1,010	10%	\$918	1	\$918
2000-0507	FENDERS, STAINLESS	\$404	10%	\$367	1	\$367
2000-0269	STAINLESS STEEL SPLASH SHIELDS	\$273	10%	\$248	1	\$248
2000-0276	EXTENDED DIAMOND PLATE CORNER GUARDS	\$495	10%	\$450	1	\$450
	REAR STEP/BUMPERS					
1000-0227	REAR STEP/ BUMPER ASSEMBLY, F SERIES	\$1,956	10%	\$1,778	1	\$1,778
	WINDOWS					
2000-0263	PRIVACY WINDOW, SLIDING FOR SIDE ENTRY DOOR	\$326	10%	\$296	1	\$296
2000-0259	PRIVACY WINDOWS, FIXED, REAR ENTRY DOORS	\$542	10%	\$493	1	\$493
	PAINT AND GRAPHICS					
5000-0004	CHASSIS PAINT, FORD, RAM, GM	\$5,246	10%	\$4,769	1	\$4,769
	FLOORING					
2000-0457	LONCOIN FLECKSTONE BLACK ONYX #150TS	\$2,958	10%	\$2,689	1	\$2,689
	WALLS, RISERS AND DOOR PANELS					
2000-0643	CG TECH INTERIOR	\$1,935	10%	\$1,759	1	\$1,759
2000-0307	INHALATION PANEL, CG TECH COVERED	\$603	10%	\$548	1	\$548
2000-0325	STAINLESS STEEL LOWER DOOR PANELS	\$613	10%	\$557	1	\$557
2000-0324	STAINLESS STEEL RISERS	\$828	10%	\$753	1	\$753
2000-0293	STAINLESS STEEL COUNTER TOPS	\$302	10%	\$275	1	\$275
	UPHOLSTERY					
2000-0905	BLACK BOLTAFLEX SIERRA VINYL COLOR	\$1,865	10%	\$1,695	1	\$1,695

	ACRYLIC/POLYCARBONATE OPTIONS					
2000-0288	ACRYLIC COLOR: LIGHT TINT	\$140	10%	\$127	1	\$127
	SEAT OPTIONS					
2000-0331	USSC CHILD SEAT, 4-POINT	\$2,621	10%	\$2,383	1	\$2,383
2000-0326	FIXED SEATBASE	\$845	10%	\$768	1	\$768
	CABINET DOOR OPTIONS					
2900-2164	ACRYLIC HINGED DOOR, INTERIOR CABINET (EA)	\$180	10%	\$163	4	\$654
2900-2100	SOLID HINGED DOOR, INTERIOR CABINET (EA)	\$209	10%	\$190	4	\$761
	GRAB RAIL OPTIONS					
2000-0649	GRAB RAIL: (2) 2FT ANTI-MICROBIAL, NATURAL	\$284	10%	\$259	1	\$259
2000-0419	PATIENT DOOR GRAB RAILS: ANTI-MICROBIAL	\$874	10%	\$795	1	\$795
	CABINET OPTIONS					
2000-0709	CABINET PAINT TO BE SMOOTH	\$638	10%	\$580	1	\$580
2000-0575	CABINET TRIM RADIUSED	\$184	10%	\$168	1	\$168
2000-0603	COMPOSITE INTERIOR CABINETS	\$12,069	10%	\$10,972	1	\$10,972
2900-0312	GLOVE STORAGE BOX IN INTERIOR CABINET	\$538	10%	\$489	1	\$489
2900-0186	INSIDE/OUTSIDE ACCESS TO COMPT CABINET	\$958	10%	\$871	1	\$871
2900-0172	INTERIOR ADJUSTABLE SHELVING (EA)	\$209	10%	\$190	3	\$571
	FRONT WALL CABINETRY					
2000-1404	CAB TO MODULE PASSTHROUGH WINDOW	\$531	10%	\$482	1	\$482
2900-0073	FRONT WALL CABINET: FLAT ALUM PAINTED	\$3,607	10%	\$3,279	1	\$3,279
	MAIN WALL CABINETS					
2900-0347	S/W DISPOSAL, RECESSED IN ACTION AREA	\$877	10%	\$797	1	\$797
	BENCH WALL					
2000-0516	S/W ON A TIP OUT DOOR, FORWARD BENCH	\$890	10%	\$809	1	\$809
2900-0136	P/T ACCESS TO THE CURBSIDE REAR COMPARTMENT	\$1,023	10%	\$930	1	\$930
2900-0067	LIFT UP CABINET FRAMES CURBSIDE CABINET OVER BENCH	\$481	10%	\$437	1	\$437
2000-0744	DOUBLE CUSHION SQUAD BENCH	\$603	10%	\$548	1	\$548
2900-0121	BENCH CABINET, HINGED DOORS & O2 OUTLET	\$1,358	10%	\$1,234	1	\$1,234
2000-0382	BENCH CUSHION EDGE TRIM:	\$199	10%	\$181	1	\$181
	COT MOUNTS					
2000-0600	POWER LOAD, RAIL ONLY, CENTERED	\$3,016	10%	\$2,742	1	\$2,742
	ELECTRICAL OPTIONS					

3000-0310	110V INTERIOR OUTLET (EA)	\$236	10%	\$214	2	\$429
3000-0522	3 SWITCH PANEL (EA)	\$700	10%	\$637	2	\$1,273
3000-0327	EXTRA 12VDC CIRCUIT BREAKER	\$60	10%	\$55	1	\$55
3000-0547	INTERIOR 12VDC OUTLETS: CL TYPE/USB (EA)	\$156	10%	\$142	4	\$568
3000-1512	LIFESINE INVERTER/CHARGER, AUT SWITCH	\$3,692	10%	\$3,357	1	\$3,357
3000-0324	SHORELINE INDICATOR	\$128	10%	\$117	2	\$233
3000-1462	SHORELINE, 20A SUPER AUTO EJECT	\$1,215	10%	\$1,104	2	\$2,208
	PROGRAMMING					
6000-0003	LIGHT PROGRAMMING: LOAD LIGHT	\$209	10%	\$190	1	\$190
6000-0005	LIGHT PROGRAMMING: MODULAR DISCONNECT TIMER	\$209	10%	\$190	1	\$190
6000-0007	LIGHT PROGRAMMING: PARK BRAKE	\$96	10%	\$87	1	\$87
6000-0002	LIGHT PROGRAMMING: RIGHT SIDE SCENE	\$209	10%	\$190	1	\$190
6000-0001	LIGHT PROGRAMMING: SIDE REAR SCENE	\$209	10%	\$190	1	\$190
	CAMERA OPTIONS					
3000-0685	I4G CAMERA SYSTEM, 1 CAMERA	\$765	10%	\$695	1	\$695
	NON-EMERGENCY LIGHTING					
3000-1633	LOAD LIGHTS, M9 SERIES LED	\$2,487	10%	\$2,261	1	\$2,261
3000-0741	M9 SERIES LED SCENE LIGHT (EA)	\$1,244	10%	\$1,131	4	\$4,524
3000-0224	RUNNING BOARD LIGHTS, WHELEN PAR 16 L.E.D.	\$503	10%	\$457	1	\$457
3000-0261	TAIL LIGHTS, M6 SERIES	\$2,821	10%	\$2,565	1	\$2,565
	INTERIOR LIGHTING					
3000-0346	2.5" CAB CEILING LIGHTS, WHITE/RED LED	\$374	10%	\$340	1	\$340
2900-0206	IV HANGER, CP WITH RUBBER ARM	\$209	10%	\$190	2	\$381
3000-0363	PATIENT CEILING DOME LIGHTS KINEQUIP LED	\$516	10%	\$469	8	\$3,752
3000-0344	STEP WELL LIGHT VISTA LED	\$190	10%	\$173	1	\$173
2000-0770	TECHNIMOUNT LIFEPAK 15 SHELF MOUNT	\$2,394	10%	\$2,176	1	\$2,176
	WARNING LIGHTS					
3000-0059	M7, AMBER	\$569	10%	\$517	1	\$517
3000-0064	M7, R/W SPLIT	\$635	10%	\$578	2	\$1,155
3000-0071	M9, R/W SPLIT	\$914	10%	\$831	4	\$3,323
3000-0068	M9, RED	\$784	10%	\$713	10	\$7,129
3000-0072	M9, WHITE	\$784	10%	\$713	1	\$713
3000-1243	RED 500 LED GRILLE LIGHTS (PAIR)	\$1,049	10%	\$954	1	\$954

3000-3499	WHITE 500 TIR6 LED INTERSECTION LIGHTS (PAIR)	\$850	10%	\$773	1	\$773
3000-0707	TRAFFIC EMITTER 794H, BRACKETS	\$3,421	10%	\$3,110	1	\$3,110
	AUDIBLE WARNING					
3000-0182	SIREN, FEDERAL EQ2B	\$3,790	10%	\$3,445	1	\$3,445
3000-0172	SIREN, WHELEN 295SLSA1	\$1,234	10%	\$1,122	1	\$1,122
3000-1880	SIREN, WHELEN HOWLER	\$1,414	10%	\$1,285	1	\$1,285
3000-1555	SPEAKERS, BP200	\$3,159	10%	\$2,872	1	\$2,872
3000-1548	SPEAKERS, DYNAMAX SPEAKERS	\$1,477	10%	\$1,343	1	\$1,343
	OXYGEN AND SUCTION					
3000-0639	VACUUM OUTLET	\$445	10%	\$405	1	\$405
	HVAC AND VENTILATION					
3000-1606	COOLTECHI	\$5,914	10%	\$5,376	1	\$5,376
3000-4028	12V/110V HVAC, ATTENDANT'S SEAT	\$10,903	10%	\$9,912	1	\$9,912
3000-1604	AUX.CONDENSER, FRAME MOUNT	\$2,319	10%	\$2,108	1	\$2,108
3000-0429	DANHARD 110V A/C SYSTEM	\$8,100	10%	\$7,363	1	\$7,363
3000-4031	MAX-COOL II DUAL 12V A/C, TOP RIGHT FRONT	\$3,001	10%	\$2,728	1	\$2,728
	RADIO OPTIONS					
3000-0608	ADDITIONAL COAX (EA)	\$286	10%	\$260	2	\$520

	Total in Selectable Options =	\$167,418
22-HEV-603-I-F550-4x4-PT	Conversion Selectable Option =	\$276,049
	Total of Selectable Options and Conversion (MSRP) =	\$443,467
	SERVS Dealer Discount =	-\$73,628
	Total Sale Price =	\$369,839